MTH2118: Business Pre-Calculus
Assignment #2 is due on Thursday, June 11, 2015 @ 5 pm
SECTION A:
Choose the best answer.
1.
If
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, what is the value of x?
(a)
3
(b)
4
(c)
6
(d)
16
2.
If
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, compute n.
(a)
3
(b)
5
(c)
6
(d)
125
3.
The number of spiders, 
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, remaining within a 10-foot radius of their birthplace t days 
after birth is given by the formula:
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.
Find the number of spiders present within this radius 10 days after their birth.

(a)
0

(b)
5

(c)
50

(d)
800

4.
The growth in the population of a biology experiment fits: 
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where t is the number of years since 1987. Estimate the population in the year 2000.

(a)
527

(b)
451

(c)
264

(d)
534

5.
Evaluate the expression:
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(a)
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(b)
3


(c)
81


(d)
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6.
Write the following as a single logarithm whose coefficient is 1:
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(a)
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(b)
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(c)
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(d)
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7.
Expand the logarithmic expression:
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(a)

[image: image15.wmf]2ln(3)ln()

e

+



(b)
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(c)
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(d)
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8.
If
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(a)
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(b)
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(c)
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(d)

[image: image23.wmf]5

ln

2

æö

ç÷

èø


9.
Solve for x:
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(a)
3


(b)
all real numbers


(c)
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(d)
No solution

10.
Change the exponential expression to an equivalent expression involving a logarithm: 
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(b)
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(c)
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11.
Change the logarithmic expression to an equivalent expression involving an exponent:
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(a)
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(b)
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(c)
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(d)
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12.
Without using a calculator, use the properties of logarithms to find the exact value of the expression:
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(a)
6

(b)
24

(c)
4

(d)
1

13.
Suppose that ln 2 = a and ln 5 = b. Use properties of logarithms to write the logarithm:

ln 10
in terms of a and b.
(a)
a – b
(b)
ab

(c)
ln a + ln b

(d)
a + b

14.
Write as the sum and/or difference of logarithms:

[image: image37.wmf]s

r

log

13

18

.
Express powers as factors.

(a)
log18 13 + 1/2log18 r - log18 s

(b)
log18 s - log18 13 -1/2log18 r

(c)
log18 (13 √r) - log18 s

(d)
log18 13 ·1/2log18 m ÷ log18 s

15.
Express as a single logarithm:
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(a)
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(b)
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(c)
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16.
Solve the equation:

log (3x) = log 2 + log(x – 1)

(a)
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(c)
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(d)
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17.
The best answer for [image: image47.png]


 in
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 is:


(a)
128


(b)
7


(c)
256


(d)
49

18.
The best answer for x in
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is


(a)
1


(b)
10


(c)
100


(d)
1000

19.
Write the equation in its equivalent logarithmic form:
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(a)
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(b)
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(c)
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(d)
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20.
If $2500 is invested in the account that pays interest compounded continuously at a rate 
of 4%, how long will it take to double the investment?  Hint:  
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(a)
2.8 years

(b)
13.0 years

(c)
14.2 years

(d)
17.3 years
21.
The growth in the population of a biology experiment fits
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where t 
is the number of years since 1987.  Estimate the population in the year 2000.


(a)
527


(b)
451


(c)
264


(d)
534

22.
The number of spiders, 
[image: image57.wmf]()
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, remaining within a 10-foot radius of their birthplace t days 
after birth is given by the formula:
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Find the number of spiders 
present within this radius 10 days after their birth.


(a)
0


(b)
5


(c)
50


(d)
800

SECTION B
Answer TWO questions from this section. Show your workings.
1.
(a)
Solve the given equations (if possible) using algebraic method:



(i)
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(ii)
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(iii)
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(iv)
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(b)
Sales for a new magazine are expected to grow according to the equation:
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where t is given in weeks.



Calculate the numbers of magazines sold after:
45 and 52 weeks.

2.
(a)
Compute the value of each of the following logarithms:



(i)
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(ii)
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(b)
Use the properties of logarithms to solve the following equations for x:



(i)
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(ii)
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3.
(a)
Solve the following equations (if possible) to four decimal places:



(i)
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(ii)
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(b).
Using the properties of logarithms, compute the following, to four decimal places:
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